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Prototype CCaO3

AFLOW prototype label A3BC9 hP26 194 h a hk-001

Mineral name vaterite

ICSD 15879

Pearson symbol hP26

Space group number 194

Space group symbol P63/mmc

AFLOW prototype command aflow --proto=A3BC9_hP26_194_h_a_hk-001

--params=a, c/a, x2, x3, x4, z4

• Numerous structures have been proposed for vaterite: (Downs, 2003) lists fifteen. (Kabalah-Amitai, 2013) found that
vaterite consists of at least two coexisting phases: this disordered hexagonal structure proposed by (Kamhi, 1963), and
another orthorhombic but pseudo-hexagonal phase.

• CaCO3 is also found as calcite (G01).
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• The carbon and oxygen sites in this structure each have 1/3 occupation, giving the final CaCO3 stoichiometry.
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(
z4 + 1

2

)
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